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p.14 £.11 PVBEAGEML, an S M ZHRT2T, VBB EMEL, |an) S M 2 H72T,
pases | < (o) < (1+2) ) = ()
p.72 £.1 SEHE1.2.1 [4] SER1.2.1 [3]
p.96 £.5 A eSS
p.96 £.7 LG I A
p.107 £.14 (1) flz,y) = zsin /22 + 42 (1) f(z,y) = sin Va2 + 42
p.123 .12 t) = nzl ]—1' FU9(0)tk+ = nzl % F9)(0)t7 4

7=0 7=0
p.178 0.9 z(t) = (1/2)gt* +v(0)t + z(0), x(t) = —(1/2)gt* + v(0)t + (0),
p.216 £.2 T =rsinf, x =rcosf,
p-221 T £.2 Ja(@o, yo) fy(@0,y0)
LR, "I+ fo(20,90)2 + fy(z0,90)2 "I+ fu(0,90)2 + fy(20,y0)2
p.244 0.7 {f(@)}nt, {fn(@)}nl,
p-244 £.8 {f(@)}nzy {fu(@)}nzy
p.254 T £.2 +rapx” - +ooF a4+
p-256 £.10 +-capz + - A
p.256 £.11 +-ana 4 a4
p.270 £.9 8. 1/e 9. 1/e
p.270 £.10 9. a>10Dt % 10. a>1DL &
p.272 £.4 kz:nC’;ﬁ”_k cos (m + gn) cos (296 + gn> ki_oanT’_k cos (x + gk) cos (2:10 + g(n — k))

2 2
PR | = T = Sacet e
3. (1) [B1ORFERZITNTOzIZOWTK | (5) o =0 THME 4 RIS HEFRREMN)
p.272 DAoL, FEHLRE LV E2 04RO | 3. (1) [ 10REXIZTRTO 12OV TH
T 075 BT 1 oRER 2. ] Do L, FEHLRE L. 852 OAREROGE
(5) x =0 THUME 4 B 1 oRER 2 iz ]

p.273 2. (#1244 Ta=1/y] 2. 7= minf, 6}
T £.10-9 3. v = min{«, 8}
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p.274 (.4 +(1/2)f"(a + 0+h)] +(1/2)f" (a + 0+h)h?]
logy logy
3) fow = ———2—(logz + 2), 3) foo = ——2—(1 2),
p.275 £.10 (3) f wg(logx)3(ogl+ ) (3) f xQ(logx)g(og:H )
p.275 T £.8 MEZzA£0TE) P RHEAIZ 2 = 0 TE D H
p.276 (.14 (2) 1+ az + b+ (2) 1+ (az + by)+
dy  y—z dz y—x
p.277 0.4 i i
dy — y?—a?+1 dz  y?—a?+1
p.277 L5 R e .
1log\/:z:2—|—1—1
2 2 CVZrl41
278 F (.4 logll = ——= pON
p ) ,/x2+1+x+1’ :llog 1 2 )
2 Va?4+1+1
p.278 T 4.1 2Vx + Isinta+ 4y — 1 Wz +1Isintz+4v1—z
1 rz—1 — — 1 x—1 _ \/i
p.279 £.1 tan 52 +V(x—=2)(x—-1) tan™ " 4/ Sy 2—z)(x-1)
/ li
p.279 T L7 (s = o (tan ™ g) ] bR B 8 = o (tan g) t=tanZ ]
k k
p.280 £.14 m kv +mg ™ og [ V0t ™9
k mg k mg
p.280 F £.10 | s iREIE mo’ = av — bv? o irERIE my’ = —av — b2,
p.282 (.8 D={(z,y)|lr=y=1 0=z =1}, D={(z,y)|[1—2<y<1, 02 < 1),
p.282 (.11 |-Va?—z<ysVa?—z, 0SS0} |- Ve—a2<y<Vr—a? 0<2 <1}
1
p.283 £.9 (1) log(1 + v2) (1) 5 log(1 +v2)
p.283 T £.2 m{ava?+1+loglava®+1)} m{av/a? + 1+ log(a + Va2 + 1)}




